S1 Whole Numbers Homework 2
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3.  Work out the answers to, show your working:

a) 456 + 347	b) 32 x 4	c) 46501 – 234		d) 480 ÷ 20
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What is
105 x 10 b 100 x 147 1350 x 1000
81000 - 10 e 94500100 2100000 - 1000 ?

Fiona bought 20 packets of gum at 60 pence each.
How much did this cost her ?

A shopkeeper bought in 400 pot noodles at 70 pence each.

How much did he pay ?

A Cash & Carry owner bought 5000 litres of cola at 30p per litre.
What did she pay for all this juice ?

There are 20000 houses in Methil.
Before an election, 40 canvassers had to go round these houses.

If they split the work equally, how many houses did each canvasser visit ?

The owner of a garden nursery planted 1200 rose bushes in rows of 30.
How many bushes will there be in each row >

The Thomson family won £81000 on the Lotto.

Each got an equal share of £9000.

How many people must there be in the Thomson family >

A car s on sale at the local dealer’s for £16728.
Round this amount to the nearest :-
a £10 b £100 c £1000.

. Jennais paying up her £6048 scooer over 48 months.
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